1 Full process
pHp—uti— g tutéh+e
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Data within bounds:
(O) =216.7+1.04  [nentries = 9776]

All data:
(0) =231.0+1.44  [Nentries = 10000]
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2 Factorized process with complete spin cor-

relations
ptp—ut— U+ (U — ut (X3 = éh+e))
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Data within bounds:
(0) =209.9+0.86  [Nentries = 10000]

All data:
(O) =209.94+0.86  [Nentries = 10000]
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3 Factorized process with classical spin cor-

relations
ptp—ut— U+ (U — ut (X3 = éh+e))

#evt /bin
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Data within bounds:
(0) =226.8+0.92  [nentries = 10000]

All data:
(O) =226.84+0.92  [nentries = 10000]
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4 Factorized process with isotropic decay
p+p—uti— G+ (G — u+ (X5 — & +e))

#evt /bin
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Data within bounds:
(0) =262.4+0.91  [nentries = 10000]

All data:
(O) =2624+0.91  [nentries = 10000]



